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= Al 461,000,000 | 100.00% 452,000,000 | 100.00% 9,000,000 1.99%
2 EHS| A 414,006,000 | 89.81% 405,796,000 | 89.78% 8,210,000 2.02%
EE3A 46,994,000 | 10.19% 46,204,000 | 10.22% 790,000 1.71%
JIEtSE 3 A 46,994,000 | 10.19% 46,204,000 | 10.22% 790,000 1.71%
S AMTEESA 13,235,531 2.87% 13,235,531 2.93% 0 0.00%
=EHINLEEE SN 29,135,347 6.32% 28,345,347 6.27% 790,000 2.79%
2SHIISSEA 610,962 0.13% 610,962 0.14% 0 0.00%
FUAST AL HEHE D] 738,587 0.16% 738,587 0.16% 0 0.00%
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OIDIEHETAIHEAIE 50,100 0.01% 50, 100 0.01% 0 0.00%
NEREEED
SZEXNAZEAMAEE A 1,669,178 0.36% 1,669,178 0.37% 0 0.00%
X=AHEL S A 1,549,519 0.34% 1,549,519 0.34% 0 0.00%
JIBtAI S EE 3 4,776 0.00% 4,776 0.00% 0 0.00%




